
Yi = βXi + εi (εi) = 0 β̂ =
∑

n

i=1
Yi∑

n

i=1
Xi

(εi)

1/X2

i

Xi

1/Xi

√
Xi

X2

i

µ



H0 g(β) = 0 Yi = β0 + β1Xi1 + . . .+ βkXik + εi

Yi = β0 + β1Xi + εi εi

n β̂3/se(β̂3)
β3

t n

χ2

t n− 5

t n− 6

µ



Yi = β0 + βzZi + βwWi + ε

se(β̂w) =
√

RSS · (X ′X)−1

33
/(n− 3)

Yi 0 1

L =
∑

n

i=1
Yi (1− F (Xiβ)) + (1− Yi) F (Xiβ)

L =
∑

n

i=1
Yi F (Xiβ) · (1− Yi) (1− F (Xiβ))

L =
∑

n

i=1
Yi F (Xiβ) + (1− Yi) (1− F (Xiβ))

L =
∑

n

i=1
Yi F (Xiβ)− (1− Yi) F (Xiβ)

L =
∑

n

i=1
Yi F (Xiβ)− (1− Yi) (1− F (Xiβ))

µ



a b

â = 1.5 b̂ = 2.5
H0 a = 1 b = 2

ℓ(a, b) (ℓ′
a
, ℓ′

b
) ÎF

a = 1.5 b = 2.5

(

16 −1
−1 20

)

a = 1 b = 2 (2,−1)

(

10 −1
−1 15

)

H0 LR LM W

P̂(Yi = 1) = Λ(1.5 + 0.3Xi − 0.4Di),

Yi Xi

Di





0.04 −0.01 0
−0.01 0.01 0

0 0 0.09





Di Xi

Xi = 20

µ



Ŷi = 4 + 0.4Xi + 0.9Wi RSS = 520 R2 = 2/15

X

X ′X =





29 0 0
0 50 10
0 10 80





X W Y

X = 1 W = 3

X1 X100 [−3a; 5a]
∑

100

i=1
Xi = 200

∑

100

i=1
|Xi| = 500

a (Xi)

a (Xi) (|Xi|)
W =

(

3 0
0 64

)

Y

Xe Yi = β0+β1X
e

i
β0 β1

Y

X

Xi = Xe

i
+ ui

β0 β1

Ŷi = β̂0 + β̂1Xi

β̂1 β̂0

(Xe

i
, ui) i

µ


